H & 0l & AHS B Ml A

FA HE2=2AclAE A
4 gi2sacAMgL 23
SreszelAgs 23 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SSHCIME A 63,841,170 48,311,723 16,529,447
= 3,121,000
[ 6,500,000
= 2,041,300
Ea 52,178,870
gEsdciMga 23 133,900 127,715 6,185
gies2elAigas 23 133,900 127,715 6,185
SEH0 G22I L 29 82,712 77,771 4,941
201 Ler23 | 44,612 42,541 2,07
01 At2t2ltl 30,349 28,369 1,980
oHMMAALBE EU 212,500& x25+32 1,275
oA YA S 700,000 52 3,500
oHpIAES OHEY 442
1,000,000& *23] 2,000
oIS AFBA(BIIFY) 248
3,000,000 #22 6,000
o N - 2SI 2203 R+
370,000 * 122 4,440
cHAES 7Y 25,0002 x175+83] 3,400
oFA 2HEEHIE £, 32
50,0002 x25 122 1,200
o ==D| LH(3CH) 143,100& ~12& 1,718
SEA POIAHIAIAE
198,000& * 12 2,376
oc|PF F& SAH|
9,000& x4 ~80e 2,880
oHIOAIEE 390,000 x4= 7| 1,560
2 35234l 14,263 14,172 91
o g=otdelA g2l
100,0002 %12 100
oAorM 2L X 23l
100,0002 %12 100
ONRE HY 27
1,324 %19 £ x5A 2H+80L 10,063
oFAL AIEEHI RAl
2,000,000 * 104 2= 2,000
oAb AIZEHl =A
2,000,000 * 10 2 2,000
202 04| 11,200 7,680 3,520
01 =LHO LI 11,200 7,680 3,520
oztc| AR 20,0003 x4 60! 4,800
CTYBH AREF
80,0002 x8& 10! 6,400
203 =4l 1,900 2,550 2650
03 A=A PR FZ| 1,900 2,550 AB50
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SN gresveIMYA
4 gi2sacAMgL 23
Rl SESdcIMga 2E (CHol: &S1)
SA - B BRA(SH) - HRA - of v G o HIDE2
cotesaAYL 92 =
475,000 42| 1,900
401 AIZHIX R0 25,000 25,000
01 AlZH| 25,000 25,000
SARIA AL AILE SXIES
20,000,000& 20,000
oM NES RXB4
5,000,000& 5,000
Zed =XZ2 &4 51,188 49,944 1,244
101 @124H| 13,818 13,584 234
MU IIRIMZZENSES 13,818 13,584 234
ox U ALE el
80,2402 x5 »20 8,024
o &tC| 22l 80,2403 x4 162 5,136
cAEE = 13,160,000 5% 658
201 er23 | 1,170 1,040 130
01 At2teltl 1,170 1,040 130
o=NAB RH L ALV Y2 EA 34
] 9,000 x2& ~go 1,170
202 04| 3,200 2,720 480
01 201 3,200 2,720 480
o=NFH FH Y ALBY P2 =7
20,0003 »2& 80 3,200
206 MH=H| 3,000 3,500 A500
01 MHZH| 3,000 3,500 2500
oXgael Hig & Kt
500,000 *35 1,500
oAEAL 282 500&*35+1,000= 1,500
401 Al HIZ S OHbI 30,000 29,100 900
01 AlZ2H| 30,000 29,100 900
ofZxE MA 9,000,000& *23] 18,000
o4 o Mg Ba(AK, BF 5)
9,000,000 14| 9,000
ST 2A2(FLB2 S)
3,000,000& %12 3,000
SHIIZ=AIE 38,382,583 6,683,851 31,698,732
S30t - Hi== XMelAl4 38,278,323 6,599,991 31,678,332
St=XelAle 4,988,672 5,404,544 A415,872
201 er2 3| 73,652 73,124 528
01 At2teltl 73,652 73,124 528
oEYSHa HMUADE EU
250,000 x25+23] 1,000
oALIIHA € U2
9,600,000 9,600
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FAN SHE2=2clAE
X‘I;_(H: %gjlz_‘s}\l/\ﬂ
ch9l: 225l - Bla HM2lAE (12l M2
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
oft(2R)MelAlE HOISHNERY3S
10,0002 %1,800& 18,000
oot=HMelAlE FI| - FLUHNEH +=+2(2
i, & - GHEDI) 20,000,000 20,000
oBtEHBIAL DI2ISIE (R2ITHE) At
It 3,000,000& *12 3,000
o¥dot(ER)MelAIE AIjtA 2|t
a4z 8,500,0002 8,500
SHESLHRIAIE FIQEBRI 24
= 8,500,000 8,500
oot elAlE HIIQtM 2| T 5=
=3 3,000,000& 3,000
oot=XclAlE 28acel R =8 S|
9,000 *3H 76 2,052
202 04t 3,600 3,600
01 =LHOHI 3,600 3,600
ooteHElAE 22 27 A
20,0003 »3& »60 3,600
307 212+01& 4,313,674 3,966,820 346,854
05 2IZtAE = 4,313,674 3,966,820 346,854
cHHG(ER)MEIALE 2 QIzteE (2
CICHEY) 2,179,802,000& 2,179,802
oHGt=HMEIAIE 2 QIZteIE (2|t
) 1,071,174,000 1,071,174
cIIEZnMelAlE 2 QRS (2| THE
) 1,062,698,000& 1,062,698
308 XXM SOIA 82,746 82,746
18 SO 2SS 4 AS AN 82,746 82,746
cHIEERXcAE dF)|sdH ¢85
27,770,000& 27,770
cIHE2aXelAE Jlsdig =52
54,976,000 54,976
401 Al HIZL R 0HbI 515,000 1,361,000 846,000
01 Al&HI 515,000 1,361,000 846,000
S EAL DI ANE B
15,000,000 15,000
cERXCIAE EE=XclE AL
500,000,000 500,000
Hs=XclAlE 1,215,651 1,195,447 20,204
201 ZBt=Ehl 9,826 9,622 204
01 AtR2t2|HI 9,106 8,902 204
cl+=FE= LA 2ES EH S AIRS
= 1,270,000& 1,270
oltH=XelAlE HIIotM 2| T 4=
= 4,000,000 4,000
oSSHEAHXCIAIE HIIorM 2| Tl
T2 2,000,000& 2,000
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FAN SHE2=2clAE
M 820 FAlL
9l T2t - Ha H2IAIE (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oH=XclAld 2EHR =& S|
9,000 38 ~68L 1,836
02 S3=gHl 720 720 0
oH+=RE= 1UAAN && S RER=
60,0003 » 122 720
202 04| 3,000 3,000
01 =LHOLI 3,000 3,000
SHXCAE 2HER =8
20,0003 38 50 3,000
307 elztol & 1,202,825 1,182,825 20,000
05 21t S 1,202,825 1,182,825 20,000
olt-H=XelAld 28 QIZteE (22|t
) 890,693,000& 890,693
oSSIEIIHTHMEIAlE 2 22te(E(22]
CHel) 312,132,000 312,132
HH3X 7 SSH=sHM2lAE EXIAY 32,074,000 0 32,074,000
401 AlEHIZL SO 32,074,000 32,074,000
01 Al&H| 29,569,000 29,569,000
oHU3A T SSH=XCIAlE EXIAE
29,569,000,000& 29,569,000
02 Zaltl 2,475,000 0 2,475,000
oEHHF SSHXCIAE XA
2,475,000,000& 2,475,000
03 Al 20HHI 30,000 0 30,000
oHU3XF SSH=XCIAE EXIA
30,000,000& 30,000
A4 104,260 83,860 20,400
Bi=8Z& SX2c 104,260 83,860 20,400
201 Ler=23| 54,260 33,860 20,400
01 At2teltl 12,000 0 12,000
oi=BIZH FI| - FLNFH =2 (&
Skeol) 12,000,000 12,000
02 s3=gHl 42,260 33,860 8,400
o&I|otE 2| I D=l 3|
200,000& %12 200
SHABIY D ®II23
6,000,000 ~6& 36,000
otf+=EId M dIes
450,000 123 5,400
otf=BIE (CTV 2HAMES
50,000& * 122 600
otf+EILY Hot+ER=
5,000&*12& 60
401 Al HIYL S CHYI 50,000 50,000
01 AlZH| 50,000 50,000
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2N gesEe
I BAI|FA

J
Rl Bi==A

- LR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CHABIY KX Z|
15,000, 000& »23] 30,000
oHj+EIE &Il F|
10,000,000 10,000
oi=EIE J|H&H Hi
10,000,000 10,000
ot== 2l 8,091,159 20,777,386 A12,686,227
= 3,121,000
= 200,400
= 4,769,759
ot== & 2= 2t 2,890,159 3,082,722 A192,563
OtSot=XelAld KXt 1,099,664 1,058,838 40,826
201 fer23| 263,240 213,993 49,247
01 AtR2t2|HI 3,336 2,363 973
COISBHEHRIAIL SXBEl HMULEE o
oA K2 250,000 x25+33] 1,500
o0tSote=xelAlE FA2e sS4
9,000 «3E ~68L! 1,836
02 S5=2g4l 259,904 211,630 48,274
oltSot=HMelAld IS (Mal&0, S
BIE34) 247,918
U= 5,550 x84 A x 122 50,350
-AEE 983 %2, 000K840H A+ 12 197,568
ollSotrXclAle SEACITE LAS
= 35,6703 284 A+ 128 11,986
202 04l 3,840 2,160 1,680
01 =LHA LI 3,840 2,160 1,680
S S EV PR E
20,0002 x4 =48 3,840
206 M=H| 25,000 24,000 1,000
01 M= Hl 25,000 24,000 1,000
o0tSotHMelAld TH(ABELI S 48
) 125,000 *4E5*5000 2 25,000
307 glztol & 378,000 345,600 32,400
05 2IMRIE =3 378,000 345,600 32,400
o0tSat=XelAld S22l (2A2IU)
630, 0002 *500H A * 12 378,000
401 Al HIZ S 0HbI 429,584 473,085 243,501
01 AlZ8| 428,000 471,840 N43,840
oltSot=HlAld 2HEZ € 425 1
| 100,000,000 100,000
o0tSotXelAlE o222 JH
1,050,000& *100m 105,000
ot=ot+XcIAE SE2ACIAAE FH
2,000,000 79K 2= 14,000
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FA 22l
B gheg 22
el ok & 2 2l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o0t=ot=XclAlE = XXl
29,0003 *20=+500H 2 29,000
oARIZ0IE0HH2Z JsdH EY
8,000,000 *10km 80,000
oZ3AT 2 4X7 ARZ2ot=xelAlE Dl
=dH EY 20,000,000 #5I 2 100,000
03 Al 20HHI 1,584 1,245 339
oft=ot=XelAlE RA2=
220,000,000&*0.72% 1,584
ot== RA2el At 1,790,495 1,623,884 266,611
201 fet=23y| 82,355 69,204 13,151
01 AtR2te|HI 4,936 4,602 334
o= 160,000 x5& »23] 1,600
oBlaBH LA FT SAH|
9,000 «3E ~68! 1,836
oot HANAE KA HMAEE B
250,000 x25+33] 1,500
02 S3=gHl 77,419 64,602 12,817
oot g2/ 2,900,000& %12 2,900
SOl AIES(SAEEE, REAL) A
2= 54,401
-JlEgs 5,550 12K+ 128 x520H 2~ 41,559
-AFER OB *2 10K+ 123 x520H 2 12,842
ool AIES(SHELY, REHY) M8
e 35,6703 #4704 2% 123 20,118
202 04| 3,840 2,880 960
01 =LHO LI 3,840 2,880 960
oot R R =X
20,0002 x4 =48 3,840
401 AlEHIZ S 0HbI 1,704,300 1,451,800 252,500
01 Al&H| 1,698,800 1,446,800 252,000
oot RAI2CIAIS 1,698,800
ol =4 226,800 %1,000m 226,800
ot MWESLY E=
525,000 *807H A 42,000
-2 ot==dH| 1,100,000 *300m 330,000
OIS SASHE 222 ZHIAIY
1,250m*560,000& 700,000
-SEot=2Z Jledd 29
8,000,000 *50km 400,000
03 Al 20HHI 5,500 5,000 500
oot=E KAALIE SI(2ADI, 82 5)
PN 550,000 %10 5,500
ol=2tH & ot=SEXCE EX 2,695,000 8,662,000 /5,967,000
= 1,617,000
o 1,078,000
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FA 22l
B glag 22
CHol: BB U SHAELHRIE AX (Shol: % 2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
FHM2He2+ & A0S ot=22 EHIAY 2,295,000 417,000 1,878,000
= 1,377,000
= 918,000
401 AIEHIX S0 2,295,000 417,000 1,878,000
= 1,377,000
[Ea 918,000
01 A28l 2,182,000 417,000 1,765,000
ogENexcl2+ & A0S ote22 F
At 2, 182,000,002 2,182,000
= 1,300,000
2 873,000
2 221bl 113,000 0 113,000
CHEHHRT UL AHOIES G4 H
BIAH 113,000,000 113,000
= 68,000
Ea 45,000
ANeE & E2EW ofe2t2 FHIAY 400,000 0 400,000
= 240,000
o 160,000
401 A2 HIRL R 0HbI 400,000 0 400,000
= 240,000
T 160,000
01 Al&HI 400,000 0 400,000
CHAD U BEH 54T HEAL
400,000,000& 400,000
= 240,000
[Ea 160,000
a2 S3ote=k HIALY 2,506,000 9,032,664 6,526,664
= 1,504,000
= 200,400
o 801,600
s E0ISot=x d8l-=XIX+ 1,423,000 500,000 923,000
= 854,000
S 113,800
= 455,200
401 AlZHIZL RO 1,423,000 500,000 923,000
= 854,000
< 113,800
[Ea 455,200
01 Al&HI 1,354,000 500,000 854,000
oxXXT sHELSots=E HUIAY
1,354,000,000& 1,354,000
= 812,000
== 108,800
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FA 22l
B slag 22
Gl AR 2EEILT FHIAY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 433,200
02 Zeltl 69,000 0 69,000
oxXX+ sHEOSoS FHIAY
69,000,000 69,000
= 42,000
= 5,000
o 22,000
sO0EDtSot=X EHl-ols X+ 753,000 1,717,000 A964,000
= 452,000
= 60,200
o 240,800
401 AlZHIZ SO 753,000 1,717,000 964,000
= 452,000
= 60,200
[Ea 240,800
01 AlZH| 716,000 1,517,000 A801,000
oot2XF sHEDNSote=E HHIALY
716,000,000& 716,000
= 430,000
= 57,200
o 228,800
02 Zeltl 37,000 200,000 A163,000
SBIEXT SOENISHEE HHIAIY
37,000,000& 37,000
= 22,000
= 3,000
Ea 12,000
sO0E0tSot= EHl-E=X+7 330,000 0 330,000
= 198,000
= 26,400
Ea 105,600
401 AIEHIX R0 330,000 0 330,000
= 198,000
= 26,400
= 105,600
01 Al&H| 330,000 0 330,000
CYTNR S0IE0ISH4E HHIAI
330,000,000 330,000
= 198,000
= 26,400
= 105,600
o 2l 16,378,632 19,900,415 N\3,521,783
[ 6,500,000
= 1,840,900
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FA HES2S2AclAE A
M MaT PR
Rl a2l (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o 8,037,732
a2t 16,378,632 19,900,415 A\3,521,783
[ 6,500,000
= 1,840,900
= 8,037,732
SOE N2a== &1 5,610 5,220 390
201 er2 3| 3,510 3,120 390
01 AtR2telHl 3,510 3,120 390
ocd= Y =N IAHI
9,000& 6«65 3,510
202 04| 2,100 2,100
01 =LHOLI 2,100 2,100
oa=k JEgf =4
20,0003 x5&»21 2,100
o= AE SHA 612,000 712,000 100,000
401 Al HIZ 2018 612,000 712,000 100,000
01 Al&H| 612,000 712,000 100,000
oXlga=E AIES(Bi=Xl, HLE S) 2
&= 212,000,000 212,000
ollgdasr sEA € +=H
400,000,000& 400,000
OiSa=E =2 41,822 38,995 2,827
201 el 38,678 36,851 2,827
01 At2teltl 38,678 35,851 2,827
olisdst &I === 37,264
-Aots= 248 NS FxZA
150,000%3 101 A+12] 4,650
“ER4 2UY 1682 A42A
350,000 *6IH 2+ 13] 2,100
g s A=SA 60, 700 *6 I 2-%22] 729
-uEgs 218 gt
85,0002 #37 I 2:+33] 9,435
0= I=HA
390,000& #3791 2+12] 14,430
SEANES 2N
80,000& %37 I 2-%22] 5,920
oHESISSAE =EIM =& 1,414
6= HA 33,0008 371 2+53] 495
478 S ZAE 306, 1002 *3)H 2+ 13] 919
206 M=l 3,144 3,144
01 MHZH| 3,144 3,144
olisds 43 3,144
] 4,000 *750kg 3,000
-SSR E A HAAISS 12,0002 %124 144
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FA HES2S2AclAE A
M MaT PR
Rl a2l (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OISa+=E AlEMA 237,600 227,200 10,400
401 Al HIZL 201 237,600 227,200 10,400
01 Al&HI 237,600 227,200 10,400
SOISMLE +EQE
5,000,000 *6IH 2 30,000
SOISALE AlM 24
4,000,000 *36H £ 144,000
oltsd+r N+=E(2%3) E4
800,000& 369 A+22] 57,600
oo=2 BEAM(ALE) RA2L2E
2,000,000 *37H 2= 6,000
NgaaT SUSAI (=S H=ZFH]) 13,000,000 13,000,000 0
[ 6,500,000
o 6,500,000
401 AIEHIZ R OHYI 13,000,000 13,000,000 0
= 6,500,000
T 6,500,000
01 Al&HI 10,990,000 11,990,000 1,000,000
SXYALT HUSIANY (=SESE FH)
= 10,990,000,000& 10,990,000
= 5,495,000
o 5,495,000
02 Zeltl 2,000,000 1,000,000 1,000,000
SXWALT BUSIANI (=B E ST HH)
= 2,000,000,000& 2,000,000
[ 1,000,000
[Ea 1,000,000
03 Al 20HHI 10,000 10,000 0
SXYALT HUSANY (- SEHSE FH)
= 10,000,000 10,000
= 5,000
Ea 5,000
S0HE MEBSFHUMS(SEXTF)(ZEAY) 250,000 350,000 100,000
== 197,000
o 53,000
401 AIEHIZ SR 0HYI 250,000 350,000 100,000
< 197,000
T 53,000
01 Al&H| 250,000 350,000 100,000
odds FRENF sHELEES LA
250,000,000 250,000
= 197,000
[Ea 53,000
SOHE MEBSFHLUMS (SR ) (ZEAY) 383,000 470,000 87,000
s 302,000
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FA HES2S2AclAE A
M MaT PR
Rl a2l (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 81,000
401 AIEHIX 20 383,000 470,000 87,000
=S 302,000
s 81,000
01 AlZ8| 383,000 470,000 A87,000
oddg HAXT sHELEES HEAL
,000,000& 383,000
< 302,000
s 81,000
SOHE d2ESTHLMS(BLEFRSAT) (HEAY) 548,600 0 548,600
= 314,900
Ea 233,700
401 AIZHIX S0HH 548,600 0 548,600
=S 314,900
s 233,700
01 AlZ28| 548,600 0 548,600
oS5 BHSIENT SHEMBRS
A 398,600,000 398,600
< 314,900
= 83,700
o5otH 2dFRSA7 sHELEES N
LA (Z2HIF0H 150,000,000 150,000
SOHE MESSHUMS(SEXF)(ZEAY) 1,300,000 500,000 800,000
s 1,027,000
s 273,000
401 AIEHIZ SR OHYI 1,300,000 500,000 800,000
[ 1,027,000
Ea 273,000
01 Al&H| 1,300,000 500,000 800,000
oSTI HEXT SOEMERS HLA
1,300,000,000& 1,300,000
= 1,027,000
o 273,000
AP 2IIH(Hes2elAngL) 94,8% 63,359 31,537
el E3H 27,845 27,166 679
el 24| 27,845 27,166 679
101 @124H| 27,845 27,166 679
01 E= 27,845 27,166 679
SNEEEERS
11,6023 x20Z *10AI1 2+ 123 27,845
Jl=23H 67,051 36,193 30,858
Jl23H] 67,051 36,193 30,858
201 er=23y| 59,951 28,993 30,958
01 AtR2t2|HI 55,269 24,39 30,870
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FA eSSl
HE: SM2 Y| (ASSR2IAI L)
el JI=2 3 (Che 2l
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
oNRA 2H ADE 50,0002 *345 1,700
olMII=A| 23 3,200
-CE o dMARE 300,000 43 1,200
-4 500,000 42| 2,000
SX= [UPSEER== T
250,000 #3CH+53] 3,750
oMYI|ISE 7003 +3001 =123 252
oS ALEX 25,0002 x5 Ax 122 1,500
cdHISE 150@ +3,0000H 450
Sb2A=R 6,060
-S2Al 20,0002 8%+ 122 1,920
NN 15,0002 235 x 122 4,140
oXEHINBA =82
50,000 x22]x2CH 200
odiad 36,540
-2 60, 000% 122 #20H 2 14,640
=7 60,000+365& 21,900
oMNFA SIIFFI| gz
34,900 122 «3CH 1,257
ogtyd M Z MM
90,0008 %42 360
2 s5=34l 4,682 4,594 88
ool AIEZ 1,200&+50=+ 123 720
oRURS 359
-2EteH 4303 #40A * 122 207
-SJ|1fH# 2,530 52112 152
oEINERES 40,000 %22 80
oBt4E 2227 MY 2|
1,682 +1,500 £ 2,523
oot SE57 XY FA2Ae
1,000,000 «1CH 1,000
203 HR=H] 7,100 7,200 A100
02 H3OtAHA RF&| 1,640 1,680 A0
oXF ADIEA ZH| 40,0002 *41H 1,640
M A2 LIFLI 5,460 5,520 260
=302 =1t
(400,0002+(5,0002 118 )« 122 5,460
Hess (eS| a) 760,000 758,997 1,003
WA XIE 760,000 758,997 1,003
WA XIE 760,000 758,997 1,003
701 JIEtRI HSHES 760,000 758,997 1,003
01 JIEt=I AN ES 760,000 758,997 1,003
o AIUSEIN dES
760,000,000 760,000
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